~ IR ¢
K (12x2—6x+8)+(—2x) HypE = Biag =t o 9. SRKMIRER R R
(1) (3x*+7x—1)+(3x+1)

(2) (6x*—13x—5)+(2x—5)

K (23+82—3x+1)+(2x*—1) 1ypE b Eae=t -

10. KA AR R B ER =
(1) (x3+5x—2x>—1)+(x+1)
(2) (3—4x—+ 72+ 253 )+(3+2x)

K(6x*+7x—1)+(2x—1) Aype e EdERo -

11. KIS R U ERE
K (8x*+7x—6x3—1)+(3x—1) Hypg=CEdaR= - (1) (33— 4x2+5x )+ (—x+2)

(2) (—2x3*—5x+3 )+ (1+2x+2x?)

R (9x2—12x )+ 3x AYRER AR -
12. KT RER R EER R

(1) (10—3x2—x)+(x+2)

(2) (6x2—3x+2)+(3x—1)

(3) (6x3—11x+x>—8)+(2+3x)

K (P +2x+3)+(2x—1) Hypg R Ees= (4) (43 —6x+3)+(2x*—x)

K (x*—x—1)+(3x+1) BIrE={ElEx= -

K (—6x2+9x+3)+3x HypE L ag =t -




13. RN UL ER R -

14.

15.

(1) (6x2+20x+18)+(3x+4)
(2) (2x—8+x?)+(x—2)

(3) (4x3—3x)+(2x+1)

(4) (x®*+6x+12)+(2x+5)

KT B R
(1) (6x2+19x+10)+(2x+5)
(2) (8x3—1)+(2x—1)

(3) (4x>*—21x+40)=(4x—7)

KN FIS AR U R
(1) (¥ —2x)+( —x)

(2) (3x*—6x+9)+3x

(3) ( —4x2+12x—3)=( —4x)

16. K NIRRT
(1) (x*—2x—3)+(x+1)
(2) (3x2—7x+9)+(3x—1)
(3)( —4x*+12x—3)+( —2x+3)

17. K FHIB AR R
(1) (33 +6+x2—5x)+(—x+1)
(2) (43 +6x2—12x+3)=(3—2x)
(3) (1+5x—2x*+6x3)+(2+3x)

18. K MFI SR ER=
(1) (x*—3x>+4)+(x>*—2x+3)
(2) (5x—6x3+15x2)+(3x*—4)

19. KPR B ER =
(1) (7—4x+x?)+3x
(2) (4x*+3x—8)+(2x—1)



